Answers to Review Questions

These are brief answers and may need elaboration at test time.

1. a) Producers (autotrophs) can make their own food while consumers (hetertrophs) must eat other organisms to make their own food.

b) Carnivores strictly eat meat while omnivores eat both meat and plants.

c) The carbon cycle deals with the movement of carbon, usually in the form of carbon dioxide, through the biosphere while the nitrogen cycle deals with the movement of nitrogen through the biosphere.

d) A food web shows all the interactions of all species in an ecosystem while a food chain is linear and only shows how two organisms, usually prey and predator, interact.

2. Consumers, also known as hetertrophs, must consume other organisms to get good. They can be classified as either herbivores, carnivores, or omnivores.

3. Primary Producer – bacteria, algae, grass

Primary Consumer – deer, mouse, minnow

Secondary Consumer – frog, snake, bass

Tertiary Consumer – eagle, wolf, hawk

Decomposers – mushroom, bacteria

4. They use hydrogen sulfide gas emitted from thermal vents to produce the food they need.

5. Energy is lost to the environment in the form of heat through the daily activity of the heterotrophs.

6. 99%

7. CO2 gas is used by plants to make glucose and oxygen (as a byproduct), plants, animals, and decomposers undergo cellular respiration releasing CO2 back into the atmosphere, CO2 is also released through the burning of fossil fuels, and plants will eventually take in the CO2 gas again. Deceased organisms release CO2 back into the atmosphere via decomposers.

8. Water is precipitated to Earth, pools in lakes, puddles, oceans, rivers, etc., evaporates into the atmosphere, condenses into clouds, and falls back to Earth.

9. Nitrogen is fixed by nitrogen fixing bacteria living on plant roots. This changes it into a usable form for the plant. The plant is then eaten by an animal or it dies. When the animal that ate the plant dies, the nitrogen that the plant provided the animal is either released into the atmosphere via decomposers (fungi and bacteria) or it is released back into the soil.

10. When vegetation is destroyed new saplings start to sprout from seeds that were buried in the soil. This is referred to as secondary succession.

11. Climax community

12. Am example of a pioneer organism would be a lichen.

13. The products of photosynthesis are the reactants for cellular respiration and the products of cellular respiration are the reactants for photosynthesis.

14. Energy is lost as is moves up through the trophic levels. There can't be an unlimited number of levels as there would not be any energy left for organisms at the very top.

15. Without decomposers the Earth would be covered in wastes from organisms and as well as carcasses of organisms. They also allow nutrients left in the bodies of deceased organisms to be released back to the Earth where they are reused again.

16. No, it is a continuous cycle.

17. CO2 is the gaseous form of carbon present during the carbon cycle. It is used by plants as a fuel  source and is a waste product of cellular respiration. 

